Geometry22 Name:

Answecs

Per: Date:

3-2 Properties of Parallel Lines

Target: To prove theorems about parallel lines.
To use properties of parallel lines to find angle measures.

Postulate 3-1 Same-Side Interior Angles Postulate

Postulate If... Then...
If a transversal intersects two ¢lfm
parallel lines, then same-side ¢ / Z4 and Z35 are supplementary
interior angles are i 4/3 . Z3 and £6 are supplementary
supplementary. m o s/k
- e

We can use this postulate to PROVE the other angle pair THEOREMS.

ALL of these theorems are saying:

IF the lines are PARALLEL, THEN the special angle relationships are true,

Theorem 3-1 Alternate Interior Angles Theorem

Theorem If... Then,.,
If a transversal intersects two ¢l m _
parallel lines, then alternate L VA 4= /6
interior angles are congruent. K y 3 /3= /5
& /5 LA
Theorem 3-2 Corresponding Angles Theorem
Theorem 1f... Then...
If a transversal intersects two eflm 1= /5
parallel lines, then ¢ S /2=/6
cortesponding angles are ey T 2= 7
congruent. m 5/ o =
VS Z4=/8
Theorem 3-3 Alternate Exterior Angles Theorem
Theorem If... Then...
If a transversal infersects two llm
parallel lines, then alternate L=L7
exterior angles are /9= /8

congruent.




Use the diagram below o write a 2 column proof of the Alternate Interior Angles Theorem:

: L

Given: /|| m Prove: /4=.6 =t P
4,3 (
m 6 N
STATEMENTS REASONS
1. 1. Given

A

2. £3 and /6 are same-side interior angles

2 Dedn. of Seme Scte Tak. o

4. /3 and £6 are supplementary angles

* Samg sede Tat. ¥ Posholate

Mme3 - mely = 150

5. Definition of Supplementary Angles

6. Z4 and £3 form a linear pair

&

Tehy . of L. o

7.

LY oad 23 e Su\odyMMag_

7. Linear Pair Postulate

8. mey ymex 2 3D

o0

" Defn. of J’Lpptamd»ﬁ,

OomLb+mZ3=mL3+ms6

P S shduhi

0 Ly = mel

10. Subtraction Property of Equality

11.

z;({' IE é_(ﬂ

0 Do 2

Use the diagram below to write a 2 column proof of the Corresponding Angles Theorem:

Given: / |} m Prove: £6= .2

L,

¥

STATEMENTS

REASONS

Lo g ffme

1. Given

2. £3 and £6 are same-side interior angles

“Der. SST ¥ §

3. (£3 and £6 are supplementary ang@

ﬁ_iI—T——'

()

' S'_S ;[ x's Yost,

4, Z2 and £3 fmm a hnear pair /

4 Defn. L. pr.

5. Linear Pair Postulate

> (4& tvel < 2 (Néumy(mqw
&

6.26= /_’2

&

C(J‘ﬂg YUAAA S MIOE)L(MU;(:S‘ ‘//I’\tim/\t./b\w_




Use the diagram below to write a 2 column proof of the Alternate Exterior Angles Theorem:

Given: af|b Prove: £l /27 - / o
b7

STATEMENTS REASONS

pu—y

73 } / b 1. Given

2. Zland £S5 are corresponding angles

¥
¥
é?

50, N §

3. A=/5 3. Cﬂ\(‘“f“?* <)/ T
4, Z5and £7 are vertical angles 4. rD,Z(Fh Vert, x K

5. 5 -3 4"7 5. Vertical Angles Theorem

6. <] Ty (.7 6. Transitive Property of Congruence

Now we can use these theorems as REASONS in proofs dealing with
parallel lines...

Given: al| b Prove: Z1 and £8 are supplementary / |
5 /

Aoy
i«
"

4

B S }/? = = Pl
STATEMENTS REASONS
1. (L\\ b 1. Given
2. - i ond < ,,5— D LOvesD ¥ s 2. Definition of corresponding angles
3. < s & 3. Corresponding Angles Theorem
4, mZl=msLS 4, 3@&4 s &fnﬂﬂ_@/{uﬁ"
5.25 and £8 form a linear pair 5.
Dofyn. Lin.
6. - . 6. .. :
LS 4% ove Svoqum. Lia e, Cost,
ME v o< %= YD 7. Definition of supplementary angles
8.mAl+ms8 =180 8. S ' . .
whshiwhow
A N § oce SLJ\Q@\L-V\. % Dafn Su@QLmV\ .




...Or to find the missing angle measures in a diagram...

Notice: these arrows
mean the 2 lines are

Find the measure of each numbered angle. Justify each answer with a theorem or postulate. parallel to each

. / o .
ms7 = 56 because of V(4 " Lo Z% Y theorem
m46= ] U C)d because it is AW \ﬂt 2% angle to £7

ms8 = ()3 because it is Lﬂ\r\‘fSOO\T\CLN\(/\ rangle to £6

ms4 = 75 because it is Sty sile lfﬂqw angle to £8
m/5 =_[_O_2~Hbecause it isﬁi}&- iﬂjrﬂ Wi _angle to £8
ms/3= _’O_g_ because itis Y& head % angle to /5
ms2 = ji because it is OAW Sitle. ﬁﬁéﬁf;l( angle to /5
msZl = WE because itis Ve heal angle to /2

other,

./ /

Directions: Refer to the figure to the right and answer the following questions:

) Ifms5 = 10279 find m8.
102" Ca,’d:. vt A ‘s)

7\ & t
V4
2)Ifmel = 759 find me2. . \ I\ 4 / <
DJ Cf}S.L) L!ﬁ'-«('c} .
3)ifms1 = 752 find mes4 N - AW Doy N
’ . . - , , .

4)1fms3 = (3x — 5) ?and the me2 = (4x — 29) ¢ find x.

2. ’—-
SYIfmzs1 = (3x + 10) °an %ﬁ;z = (4x — 5) ¢ find x.

Byt jox gy-5 =180




3.3 Converses of Parallel Lines Theorems Name /L}NS W)Oj date

Fill in the blanks to complete the Paralle! Line Theorems from 3.2: (mark diagram for each type of angle)

% Same Side Interior Angles Theorem:
' b \MM/V{
If 2 lines are PARALLEL (and cut by a transversal), then Same Side Interior Angles are O I/IR‘P ‘ Yg’

« Write the CONVERSE of the Same Side Interior Angles Theorerr‘l:

t SST 8% oe Spplem. sren SEEY,

then___the 2 lines are paraliel

NNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNN

= Alternate Interior Angles Theorem:

If 2 lines are PARALLEL {and cut by a transversal), then Alternate Interior Angles are édnﬁl YU»"’J(M .

* Write the CONVERSE of the Alternate Interior Angles Theorem:
If ™Y Do ¥
then E MOS H )

~~~NNNNNNNNNNNNNNNNNNNNNNNNNN~NN~NNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNI‘\JNNNNNNNNNNNNNNNNNNNNNNNNN

» Alternate Exterior Angles Theorem:

If 2 lines are PARALLEL (and cut by a transversal), then Alternate Exterior Angles are i/(f\’\ﬂ ™

»  Write the CONVERSE of the Alternate Exterior Angles Theorem:

If M Gt X =
then }‘\/,\‘f\,fd \lk 3

NNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNN

» Corresponding Angles Theorem:

If 2 lines are PARALLEL (and cut by a transversal), then Corresponding Angles are C&Mﬁ Y insd”

¢ Write the CONVERSE of the Corresponding Angles Theorem:

. C/mws\p gy =

then U\(\‘Qé’ ]F !




Name

Period Date

Geometry @: Practice with Proving Lines Parallel 3.3)

For each of the following statements, write yes or ng based on the given information. THEN, if no, explain ¢

1.

Is £1= 227

why, if yes state the theorem or postu}atisﬁt supports your answer.,
¢s pr No

p  Reasoning: {@‘/Q/\(\(\QS . 25‘3 %W \

D
2\
Is Z1= /27
A \ B
¢ MAVI'D
Is 2l =227
o\
A+ V B
- -y D
C \2
Is Z1= /27
A \1 B
\\
e D
G 2\
Is Z1= 227
A T B
")
C—"72
Is /1= /4272
o\
- 1\2 B
. D
\

5
Yes oif No

Reasoning:

U@S NLT (\\Q&WJM/(

@(})f No

Reasoning:

C/(JWS() % ™ e

@r No

Reasoning:

M gmd, L Thn-

Yes o@

Reasoning:

' 0 et
H 4

Lined o1

@)r No

Reasoning:

A int g Thime




For each of the following statements, wri

ite yes or no based on the given information. T
why, if yes state the theorem or postulate

that supports your answer.

. Is L1z /29 Yeso @
| Reasoning; [ WJ M Uﬁw mw/(

—_—

THEN, if no, explain

8. Yes O@Q
Reasoning; Wad 83“ .
g @or No
" 5N
A 1\\ B Reasoning: é(fY ] V%;@ J‘d& mﬁ? ) \_D%_\
C- 2 . D
10. If£1= 22, is 4B|1CD? %}4
4 2\\1 B Reasoning: | 2L h . e~ }91/(5/’
C \ D

d@ \\rD{J s\'f\ Vol a4 ‘ ‘ i,f {1\1&3‘

1. If 2= 22, is 4B TDo (yej‘gmo

A TP Reasoning; Cm\‘«’\ei 7 A it g Thm
'ﬂ\\f‘*\\
12. I L= 22, is AB | CH? (sz)rNo

A 2\

\ B Reasoning; (/m{\ A788 { 0 % - )/‘} {} 7( f’X JL 9/ W

 —

C




Determine whether or not / js parallel to zn from the information given in the diagram, If yes, state the
theorem or postulate to support your answer,

answer,
25. 4 26. '\ 27. X
- " - o, - \19::-4 u,
16x-§ \m- 4 \
L -— Y -« L = -
- - > \IOz +10 * 1 10°\
v




ANSWUR

Name

Period Date

Practice with Parallel Lines and Transversals (3-2)

(

Identify the following pairs of angles as corresponding, alternate interior, alternate exterior, or same-side
interior. If the lines are parallel, state whether the angles would be congruent or supplementary.

2. 3.
]
(‘/{)\(\“85@6‘{\604\‘\0& A et Came side fa
C/G\(\(&NM/%J (,m’\cA e A guto(pu_[y\ _ }
4, 5. 6.
!
7
3 2
v
( a Lt TeE &)L{ | m{.’{_’j}'ﬁ‘{v et SP' ~
) r =

Find the value of the missing angle measure.

o

LN b? .

e

Caeee s

<Y ’ wlj ; }fd‘ !




Solve for x,

- + ao ol 8?)
Sxrd =54 2%-10 4120 = |

%ﬁ:%ia
L x=al ]

Ax ~10 =60

Ax = 70
&0

* 7 18,
(x + 80)°
(- + 11;°
{10 - 8x)°
{f0x - 64)°
dx+ § 7 10x b _xetl =y T ~xr§0 = 0 -¥x
:?( + - X
“blo © 3x s T

UCT [ ay ——
X=9 } T :J X = "1)_4}

e s

et
19. Find the measure of each numbered angle in the figure below.

A )
d a0 N st w70

¢huwwdﬁ

mL2 = &
m45=mw§£i)#
mee= 110




Geo22 - 3.5 Triangle Sum Theorem Practice = name

1. 2, 3.
65° ?
40°
20°
57°
B ?
34 $D°
4, 5 6.
A
2
4
? 25 100
> 350
|35
7 - 8. 9 =
39° :
7.0_»""! . \I g5° | o
' 120 ' §4°
N g
— : 50°
60° ss\f15 14 36°

(04"

5 /\
/7( NV TERIAY

(O7°




Solve for x:
13. 14, 15.

8y 42 9 2?0\\

70° 60"

ST ESY + X+T7Y ¢ 8O §9+97+x ¢ SO

Ut + TOHGLO (KD

20 @
— N

16, 1§, 15.
X+ 51 ’.1‘—%-5‘:) /\
| L 1—37 1+6‘? \
/6’0 00 . 84 x451 g
80° [ 60° A
/ , G -
_ 2y + W0 =0
P40 xS g Ve 484 411010
— /(/
Sl x=-"1
18, 10. A
A > .
3x-6 SV 300 /"\
. x+23\1‘
Syr+4 ™ \
g ) 80"\
- Axa 17
x-lp Hox ¢y +SD - (U - /
lxy =2 =130

(i) ™ (13-

\\,,/ll




L 7
Geometry 22 Practice With 3.1-3.3 including proofs Name @‘f\) bW&Ké& per__ date

3 Identifying Angle Pairs — Look at each diagram and find the 2 angles that are marked with an asterisk™,
Then a) state what special type of angles they are or write ‘no special relationship’ if none exists.
and b} tell which 2 lines, if any, would be parallel to each other if those 2 angles were congruent.

! */ { 2} 1 / K ) ! / */
w/ / VAV w/ 1
f h f A fo h

a) MSQ% al__ g a_ At 1A 5}&
b>_p_n K. byl b)ll] s

1) 3

5

S L )/
A )/
o

4) ; / */
/o h

o bl 35 amd w alt, ext, 85

R I o Ay an

) f// /*/ 8) i 9) 1 / /
" M /* / " / /
p ok b

o O L3 a_gll, MEXS b Lnets pordy 8

b)Hp_lt_\L_ b g@ ¥ b) .10 ke

7

i, Knowing When to use Which Theorem —Provide the reason that justifies each statement.
4 1./ 10)
3/4 1, [|im 1. given
2, <4 =<5 {20 A7 4 g -
TH 5/6 M y VY % § J/(/U/Vk,

7/ 8
11)

1. <2 = <7 | 1 given

2. I|m 2. CENVLSL O(F ﬂ/(/f,.{/}a{j qhm‘l




12)
[ 1 A 1. 1l|m 1. given

3 4 2. <3 = <7 2, C/W\%S“() § .Mf/h e (
I 5 6

/8 13)
1. Iim

2. <4 and <6 are
supplementary ' ' -
3. m<d+m<6=180 |3. DaMN. Svpplean

14)

1. <3 and <5 are 1. given
supplementary
2. Iifm

> Conw. of SST X -thna.
3. <1=<8 3. ot —onch % F -

. Solving for ‘s’ — state what type of angles each pair is, then write an equation and solve for x;

21 \ ) . ,
! N ek s AN ol ik, S ¢
> ﬁ? » gyw,q&[ﬂa h §+339\ T XF!%Q[ =132 {.
sy Br—4 . Lx = 7 — 3 ,.4_./\
o \ T &" i,
NNCED N
. g \ ES - (o Lovwesp. BT
-1+ l4x / . WM URG F 3 / phas S
) / SNy e /23x~5 " ol 3% -$ T AN S
RSt dx =¥ « -
/12 17 St /g}x+5 ob: - /O
X ’;-OV @ZE;\?\
Find the measure of the angle indicated in bold. M__w_)
23) N 26)

B T A ML M- +A0x 8 =150

4% +y =80
4y = (Tl

TR
=D
WL 59 =160
ax= 18

i




/1

Using Theorems in Proofs /
Given. m<1=75%; [{|m 2
m 3
Prove: m<3=105° /
STATEMENTS i REASONS

) mwe[=35  gllm 1)
2} <1 and <2 are a linear pair 2} ”Djafh 0& L . pﬂ
3) 2l Ly Cref g\J@@\LWWA 3) linear pair postulate
) m<l+me<2 = 180 4 Tefn . s,upok 2N«
5) 75+ m<2=180 5 <Subshawha—

6) ey V0%

6} subtraction

7) <2and<3are__glA, OO\, ?ﬁ‘ $ angles | 7) Defnof al& Wt %5

8) <2=<3 8) ¢ l4 nt, 757\.\/\/\""\
9) ML) emnEd 9) Defn of congruent

10) _ywed w0 10)  Subihhuwhven

Given: <1 and <3 are supplementary I

21/

Prove: /|| m
m
7
\ STATEMENTS REASONS
o 4D aep Suppem. 0 Oliven.
2) W?‘*'[ +me3 =0 2) definition of supplementary
3) <iand<2forma_ {swfer Qo 3) defn.of_Livpec poad
4) <1 and <2 are supplementary 4  Ungets Dot Do souiectf
5 wre] LR\ 8D 5) defn. of supplementary
6) m<1+m<3=m<l+m<2 6) Subshyduwh—
7) W14 A < e D 7) subtraction
8} AL L LD 8) defn, of congruent
o) Iim 9) ConveS( of Coce?sp. JAtnn
p
: R
Given: <l = <2; <5z <4
Prove: FQIEESﬁ r
e
s
STATEMENTS REASONS
1) <1z < 1) O
2) <2 =<5 2} vehrcod S Fhwe
3) <5z <4 3} given
4) 2| Sy 4} Transitive property of congruence ‘
5) PR I s s\ Lonvese o 417 o X FHya







Name P\MUYZ{/( _/g | Period - Date

Geometry 22: Practice with Lines Cut by a Transversal (3.1-3.3, 3.5)
Use the diagram to name each of the following.

1. a plane parallel to plane SUQ Q\(,U\SL A\ 9 °
— ¢
2. two lines that are parallel to RV %"?\ ‘@ \SR 3 h
- “ iy
3. three lines that are skew to WX {3, W K AT Vo
w X

4. two lines that are parallel to plane QUR 5
& W

In the following exercises, describe the statement as frue or false. If false, explain why, also state their

intersection point(s) if possible. 4/3
. N A B
S. AE and BF are skew lines. \\ 6. plane DBF |{plane ABD Jvtﬁ( i c /)
foder St o W :E D
—_— —_— I
1. GH||EF 8. FH || AC ] _JE
N P Ne /

o o e
9, plane EFH | GC 10. FH and CD are skew lines,

Name the special pair of angles listed below.
11 £6and /8 wﬁpd\’lbb”‘g e
12. /7and 211 g, intem %
10 12 S
13. Z10and 214 79 /N cal &3 ~ 16

{
‘CLE/N“ LS

x’

14, Z5and 210 S (el
15, Z2and 25 | i pm\f

16. Identify all the numbered angles that are congruent to the given angle. State the theorem or
postulate that supports your answer,

/2 \/Q((t\'f{bt, F Y ua

e~ arespandng S e _
e oot et I Hinn

Find m21 and m.22, State the theorem or postulate that supports your answer,

v ML!//SDPr e w < A ath it 5
Uwne
N = B0 / \ med = B *thw%" N;EJ
WP £ww~“ﬂ;

¥ind the value of x and y. Then find the measure of each labeled angle.

19. X+X Al =180 20, oy
K 252l =180 I
ax = 200 M= GO

e B



21. Fill out the two-column px‘odf.

Giventa || b,x || y

o

IE gl7

A oy
[
o

¢

) , i h 9110 13114
Prove: /4 and Z15 are supplementary P 1el1s
X y
STATEMENTS REASONS
1. Given
Loalbxly
2. £15 and £9 are alternate exterior angles 2. Defne of Al e X0
4. MLS T m< ol 4. Definition of angle congruence

5. £9 and Z£4 are same side interior angles

N

CDefn. of Sume Sy it B}

6. 29 and Z4 are supplementary 6. ST FY e
T.mz9+ N\U-Z =180° 7. (D/Q(h‘ of A‘U()@U/ﬂ'\,a
8 M¢iy +ms4=180° 8. Substitution Property of Equality

L4 ond 245 e Svppl

> Do soppLinstny

22. Error Analysis Which solution for the figure at the right is incorrect? Explain.

2x—40=x+10 2x - 40 .,€c+10)=180
x-40=10 . 3x5\§\07/180

et X
x=50 400" Ax=210

mﬁ‘w // x:70\

23. Factor the following polynomial,

mLl=x*-"7x
mL]=—-x+7

392
Gerter))
& G

24, Given the following information, find the value of x.

1m K- T syt 7/




For each of the following statements, write yes or no based on the given information. THEN, if no, explain

why, if yes state the theorem: or postulate that supports your answer.

25.

26.

27.

28.

29.

30.

31,

A i

Is Z1= 227 orNo

‘ o
Aon \ p  Reasoning: (j\ﬁ\&&’p 2}% WVVL
"\
T )
C 2\ [
Is 212 /27 Yes 01'@

\ B Reasoning; {JMB Ol NOT P(IWM

A V——
¢ o

Is £12 227 m. No

)\ ORI
" i ’ Reasoning: AHl Mo ¥ .

MR D
¢ 2\

Is /12 /29 Yes or@

A ° Reasoning: féMJ ot NO’F I@ ‘W

¢ """7‘2’;’”#1@%@ D
Is 212227 | I‘NO
A B g ; - 0 ;
\ Reasoning: a/(/{;‘ e ?f,»\ﬁ. Wmm :

C» 2 b

I M2=180"7 y
%‘mél +rm. 2. 180_ 5 Yes o]@/)
—~p Reasoning: U\ML& NOT J ’}

- is ABICD?
If Z1= .2, is AB||CD" @orNo

1\
A B . i
2\ Reasoning: C@’Y\Vﬂ YU ot Lty Zﬁ ‘o
C D — T
\

32. Iful=22,is ABYCD? YesofNo) | /
O Verh cal 35t clotepind [ fines

Reasoning: it




33. In the problems helow, find the value of x.

msl=(3x~17)° QT =X+ 7
ms2={(x+1)° (
(x+1) v = 18 1

&

il S S A DNRTI VRN 3
mL4=(8x+1)° Ky +13.< 18D 3

A8x = 16§

mel = (95+7x)° 1
© mz2=(s5-x)° Q64 Tx S5 x <1 O 2
150 +px =150
= AQ

@9
0 mZ3=(5x+12)° . - f
mid=(1x-16)0  Ooxride =Tl \AJ_?’_;
| W8 = !
K-

Find the missing angle measures;

= 10°
140° .
}L‘lU:S\gP\/l"Y
iO)u—S’&f'lg;) o= G+ §
!UX’(L‘ ¢ 3;10 t%af— (i % 7
X= 1 X = o

Find the value of x that would the given lines parallel.State the theorem or postulate to support your answer.

oy ?
133
- /\ N 3. Qx+2°
. m"/ \ v, . . - = 18U K
famN T e

gx = 1l (5= x|
Q=D S

39.




Geometry 21 More Practice with Parallel Line Proofs Name Per

1) GIVEN & m/ 7 = 125°, m£ 8 = 55°
PROVE & /| k

S 2
AN j L <
7 : “M(MFD} "&l'z/s—\/ m(_,(;ﬁ" (D GH\JMM
] p N 6oy =i | @ Mun

|

= \ % mc g,mcg:.[,go @ Subé}'aﬁy\j
eh o wd € § svpp | () Def dupplenn

) <:TQ‘"@'%% [G) Converscot
NS 6 o ULV T P
2) GIVENE allb, £1=22 ) ) P
PROVE & ¢ || d O oo ;e ££2 A
3) 3T & hme
9 Dedn. svpplem

/d /c Dl supplen (*
b 3) mel Hf’i"#%"’lgo "

! D el =inede () Pedn &
2 3 R %mz.&_}miz%si&}:

@ St sh é}vu’(jm

) | ; Vi LQ/ p

/ f&?\H - ovel €2 g.,{)()@ @/ Qe Supp M
D C/W(’

, 0 of S
() Lonnarsl of > 5
3} @9 Proor Complete the proof. 1 2
GIVEN B 2 1 and £ 2 are supplementary. , / 3 /

PROVE b E%H Ly ) . / /

L £

A

1[’;:;..

E:

ROPIPVIE Sopplom | (D Grei— ) —_—

@ < | et A4 é*m()()lﬂm_ @> Lin. Pr, Post. | -
: @) Ceyﬂﬁjmﬂd Sz,\(a‘oimw. P

3) SR |
O “d @‘\ LoV, o Cﬁ\'\f\[fs(). @ A

@ Jzi/!fq, )b

drlym




9 GIVEN b £, |4, msA=m/B=45°

PROVE & ;Hk P -

C)/Ql »éz MEA =<3 =i @ﬂqvm

.m@ 2] £ 2 (&) coveesp. 3 Hun,
Lo, 'n 3 A LR B Dedn. =

L1 E 2B (1) Trensihve,
b A O j” @ (im,v, 00(‘1’

Comesp: %,K?vau

5) Given: 22 = ,/1

21 2= 23 S ) 0
Prove: ST || TTV O ~
PEIRY

~» /~{ @ca,\vm

Nonsidne (.
2 PO,
() Coov, of

(/\{/(-71'},?%/(.) 3‘61"\—’

T ——

6) Given: AD L TD S [ K

‘:11 = s2
Prove: BC L CTD O iy L(L‘D AR SIAY @f
) of o Mf#
lk/@] (2 AD o8 (D Cow, obg%
© 6LLQD D T8 o line s Lo
o of A “ s,
‘V\/\M _J_, A0 o'"H/U“’ Lein ¢

——




7) Givens Tfffrlh:ﬂffz ) D) Eg
L3 4 O) TH \h':ﬁ ;4 gt’j @(6,-5\/01/\ -
Prove: KMIIN @ o @ S e,

VL G

B |20 > (%) Locresp 3 dmn
| Y 2L éﬂgf o %—.\pe/p,

Mo N 9 L)% 2y 5) Frensidre €,
© gy LN Convy. of

alfl © tony 4.

8) Given: A REP =  PQR
Z QRS and 2 POR are _
supplementary. S (2\
Prove: PSSl OR

(D LrsP € <P B (rew
O<Q(C/S ) L PAE svpp | () G

@ < QLS+ <PRE <180 QDﬁ{“ Supf.

@ me 30 =m < PAE O Dedn. 2 Cﬁu\wﬁqw\«)
Q}:} e QRS+ mefSPTigp & Sudogh A
Bes b <RSP swp. |0 390 &f
o 1A Cpav of SST-S§dmy
o g g Cor

n N

. Given: rl[s S K.
—Z5 & /6 Oells, <o et 0 gpen
Prove: (| m Q<4 <5 sppl. @) $ST ¥ Fam
Wmﬁﬁ
) A ‘4-'1,4-#\/1‘«{') = I (/ Dzo(\n (SZL/‘(?@
| M BT &g @/ r)é(f\/\ ~=
e el < 180 16D Swashug
oy )(/((7 S\/{\/‘P\ @ Dzh Sb*((ou
m N Conv 0f SEL-3
e O toneot S0
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. Geometry 21: Review chapter 3 — parallel lines

Use the picture below to answer 1 — 5 as true or false, given ~A|| JD; HE) /0. If true, state the postulate or
theorem to support your answer,

1. £11=45 Q—&L&L 2. A16242 False 3. £9=£6
ol eesscal g Yle nohwcessm'%\ FN False
we fant engio Nob- pefecke sl
A [|Gx
4, £11=4£13 , 5. 4212419 o icq

Tl

60resp. i c T ble TS et 5
Corresp. Pt . ot fl 45 5D
¢ A 1.2 3% F

\ lé’ Q 4

N1
<6 :
\ /17 / i {/

Use the picture above for 6 — 10 to determine which lines, rays or segments must be parallel to make the
statement true. If true, state the postulate or theorem to support your answer.

6. L13=47 7. XGHA= £14 8. £7=45
AF || | i || DI Cwll 7
- @it A - - S 3 - -y
Lovw . of al -5 e Lo, oF TS0 Tt conv. oF (gresp Foi
9. £6=43 - 10. L1943 =
z"—)i '"’ ) AF // Gk
(‘a\f\\/,uf elt. Lo of alt. xt. & 4nm
In 11 and 12, find mx6 given ajlo. h

11.

Q‘\)&""O%ﬁ' :5&" ,‘d =
32w My =180 g,

>\
o
SN
N
=
. X
~
o
~
AN

32e 44y = 6 ‘fté_
10\3 JOx
e = A

Z 28 L
< 5 =7 20x+ 10y 4 @
M7 -
2x+14 60 15 49/ 3x+4y - 3x+Hx = Lbc {’14-‘{3' 33




13. Find the measure of each lettered angle. List your answer to the side of the diagram.
ML RN MO RP MO bisects £LMO

) R N

b = 152

c= a8 (olh,int o )
0(",9?6) ? (q/{,f, nE Y2 C)

17. Write a two colurin proof.

Given : £RQP = APSR; £SRQ and APSR are sup plementary
Prove: OF || 7S

S - -
o oen Db
() mseaimepSe Z150 @ Defn. Sepplam.
(3 me RGP = me PSE. ® Defty. &
(j)‘ me SRR+ m< AP 18D (D Sibsdduehe
(9 <Sga’ £ RePae spp'- ((5) Dota. $vpp!.
(> g e (©) Conv. of ST 3-thr

S




Worksheet on Parallel Lines

Use the figure below. Determine if each statement is True or False. Given only BG||CF and AG||CE
A 8 c D

141245 falst -
248242 @ False by wt (Lt know i ADICF

3.43=4FCD Ty, Ceecesg B Thw-

42+ mA4=180° Fakse, <5<l contsp F TN

542244 Thwe. (eaesp Sthw

6.£9= 43 False,  BE ot || 4o Ad

7.41 and £BCE are supplementary Tawe.  SST- ¥ +hwm

8.48 and A3 are supplementary Ty lge bC we dowk Ehow ¥ ﬁ-b_“ GE
JAT=ZL5  GSe CE not || wep

1044246 false

Given the diagram with FA}TS. Answer true or false.

——

1848=44 T
19.43=£11 £
WA1=45 F
243247 T
02.42=4£9 | T s
NBAL2=L §

24 XFAS and £ AST are supplementary |’

25.£TFA and £FAS are supplementary e

A . j ot ‘/é
17&2;46 T ﬁw(xts /é ({?\D'% H r H’) - A
z
il

Ny
/7




Use the diagram, name the transversals for alternate interior angles.

: B
C 112 5/ ‘
314 9 g D
p 26. £4,£11 «1mv\8\rersw€ =
1’ 27. 47,49 fronsveasek  BF
A F

BA2LT  pesresah TP,

Use the information to find the measure of the labeled angles. P9 [|RS,IM L NO,m«1=48

29.mg2 15
30.m£3 48”° N g1 2 BNy O
3lmx4 4y’ 3
2mLS Gy S 6
33.mL6 ypo 0NQ S
34m£7 ol

35mA8 138
36.m£9  128°

kel

37.mx£10 Yo

& d

38. Use the diagram cljd. Findm«2 \?g\

od % *’j-’lef?’o =180 bextd \
2 sz = {50

(X"«(aoﬂ

39. Find the values of x and y in the diagram. Horizontal lines are parallel to each other.

120° g 7 v y %l?o “1§0 | (Qy;,ﬂ = (0
2ty , A% - 4140 S{§O LQGQS) %fj = (0

—

e me
‘ -+ =
140° . Lf‘,‘( 25’;0 0 Y = 78\9
x = L/ 7 W—- & = ¢ O
mn (8 Ay




<C=<3
3. Gwen R

-BE.LDA .

Prove: CD L DA

@ <STLRR | 2l Slpen € @ A\ iat Foblam
/

@ CRNP & <ReN

G—wen AM OPisa rxght angle

{0. =~ OPLRP
Prove:Mq|-
oS-

.S l(g
RO
@ ?Ej"'g“g“g 2 Emw,g:e
S o cmf’sm’/’hm
_ @ BE J.“.DA 3) G o .
@ (v L DA (v TP a lne o5 ,L»’/DM |
' ' ‘ od / / [¢r~es / fren O
J
8. Given: £B = £6; 55 j{fVﬁ o e §
Prove: LRNP = ZRPN _
b5, 1[I0 |0t

@ Tmn&dw\/\@ < R ey
_ ' RN
4(9 -'\: A.KP;'U

"'E

\

/MOPls R €Y GP LEP

&"..:; 4 P\f 0 fg g3 ‘r& §
¢ MoP=G0  me RPO = 90

au +q0 ,f&,)
H’\‘lMOP +me PO «f&[)

£ MOP ond & RPDOE SUEP:

iy Mot

Oy NS
@) Dedn. L
3) Defn. (€, ¥

/(J-'. SCI’.-’?S‘:}Iiﬁ,L}‘\A—w ‘
@ Dodn. SOPP




PROOFS - (more than 4 steps each) @ o L
A S ﬁ‘w
/ Q Me | =m ey / g““(;—(_)_ © G(fq\'e/\n, .
G A m4|4m¢& A < %D O
2B 2 ME3 rmey = m< BDF 0;'%” ]’)03/‘
@ med s mea = me qaen (O subshhurn
NC @ £QT3 @ affc int I fha
E 4 H @ Me =me R éQD,acfn.?;v
B meq 1 me3 e mepBD|B Suboshdes
F (D m < BDF = me pd 8 %{ﬁ)‘M
() <poF = £ peDd Conv, of_altfat
@ e “ ov &
1) Given: m<l=m<4; BC If ED S B
Prove: AB Il DF E —_— | (aE;
. ’ $ !_4' ol N

CEralsy b )
@ wmeirmen= menpd Omjw c;a/a"ﬁy%#

Mme pmey = me =DPH .
_ " .
() ey +men = me dFmey & su SAY ¢

2) given: m<ABD = n<FDB; m<l = med @ mey FMed=me 3Fme @5'«”95}!‘&4\

Prove: BC Il ED (ﬁj me) = me D & S‘Lb"’?(fw
@ 4-(9._(;4‘3 OD?/M -—_-,
& BT|)ED O Lonvieof
CM/F; !M Zli
Hana_

TS @

3) Given: <3 is supple. To <ABG; <ABG congr. to <DBG

Prove: BC Il ED 3 e
@aB Su'ropf o < N3G } @@’W\M—J

<G = < DBG ‘ |

C e 4-m< 486 = 180 ' @Dao‘n.(fc/pp’.
3) me ARG =me DRG B Debn. =

(CD) Med Fma DR E = 8D §) S SH h

& Iko‘?\,é‘v]o‘o(a/;,,l
@ Cmv,ao” gﬁf?jﬁ/h 7
§

@ £33 ead 2 DBG-ovt Sippla.

© & e




Geometry 21 Solving More Complex Problems (3.1-3.5) Name JYU «S Uf//[/ﬂ/jdate

per___
'~ each diagram, solve for the angle labeled “x”. Show all work. List the angles that you used to help solve.
2. 3.
. i \13¢ 2\3 .
‘ 4\5\‘#{ S\
8\9 10 11_,1:_
12\13 14% l{q X . -
25 gy (L Qr) g ripaeme] = o
69 + 76 + <1 = 180 (A sum) ™ ’_5 1 CCawifs 3 1§
= = i A .
35 e ] ‘{Li ( P W‘C(;(j{) ASL,LMM

n<i=m<2 (Jert, <'s)

) T 50, N
53+ B yx=180 (A sum) @—: (’l {{ (W (75 @D ( 0 GW@P‘J\)

4, .
3 RS

31
3/4 5\6

" i8°/7 si‘
10/11 ., 12\3

e P (W’Tﬂ

i)=Y (VA’B wel = Sl (Ait int, 4} ey s Y48’ O/MM,>
X+ ole STy 2180 {1 St mes4 983l =g (0w

T mes =10}
(x=58 )

=01 var)
LTl

Mejn 64" CL.PP} )
C\w &)= by ( Covevsp & aic}
26 0 (Laeresp b L

%4 51};1';%@}0 D Sican

: _ 9.

e i

14/15 16\

112°/1 203 o
475 67 "
30
X 1 2 88° 350 X 8/9 10 11 Inlben

| o (o E‘”"“) 132/13 1?:»: >
. ol ¢, iy FLRS UL dw ’

mel= (S

A

: e Teq0 (LPP)
Sy <8 [LeP A somt
bShei | ) Qi35 (o)

(\)Sf “S ;’ o N m ?:\:; (C,g‘“\nw S? ,’f“ < ,?>

e e - L4 }
k\h)jﬁmﬂig/ \W

Mmes g Cl//}’f} |
mel e { Comes A

ROEAY




10,

A 15&tm el = 180 (ShedtE-
e =6s”

vl +132 =190 (+ ”’)
me3=yg
X = as +<{g (mfimm\
Cx=143D

14,

P,

140°/9 19 539\ 10

11/12 13\14
m ¢4 YO <180 Uﬂ’)
meq =40’
4O+ 534 %= 56/0“3 )

19.

=18 (s ¥
WD Ty’ CVP(%
¥4 &4y =18V C& S’M%

&=60)

Sb

12,

N2
4 (
Sr{'yX
6
51
35° 8
765 68°
Y953 +-me| 7 lS{D(ISSM ,
mef < ‘75) 26+ e T=90
mep = VAT e 55
reT ) mﬁw#s“rkcaf"(m[bsv@

X6l 1150 ( 1559 o

@ X 4$1c cgo(?p)@/)
89°

7 / b3
1 1/2 3
P 585
4
) 9 10/x

13/14

e Tt 8 =180 (i& SM

e v (LPP)

20,

(
med =08 (\/AT)

s g ; B
mey =l (Lowespn <)

39 4 TN ; ’mg‘%
s (05 JRee) Liomp
e s LY G
o + gl rr «180 (shes 8)
x=30°)
10
1429198 2[x 2 '7%0

mé A {42 7180 éLP?) T2 48 twel = 18D (S’N’“‘}

et =38 _ mef =g
=31 +38 C{ﬂ(f’ 4‘“‘”‘) MLy = 5)° CV/LHB
X = (o9 ) K=Y $ . L@xﬁ ‘Fﬂ;}){'_

x=9 ;})

)
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Parallel Lines Proof Worksheet

n\lgwwx

o NV upa'te
\;ul,f (}mu"/i

¢

Name

_~ Write a 2 column or flow proof on your own paper. L ffg;f,m y :j
y 1. Given: L || mZ2=/4 2. Given:l || m; ZL1=/4 v/
v y,m Prove:£4 = /3 Prove: Z3 = £4
BE) T4y fodnepom 3 x R A G
@cd¥La Suaenthic K 4 30 Codesp. 4 Tost.
. 3 . ~ »
Lfe att. it 8 Ma " ' > Z| =Y G
~ ETAT Vronsihwe.
LY 27 Trens |
3. Given: jl| kEILII Givenyj || B k|| 1
\\(_ Hu Prove:£1 = 23 Prove: 21 = /6
( Vg e . . .
< ‘ ’; £. Z),_, ;:\J‘f"‘ﬁ() q”ﬂwm \ \ \ J“‘rc ' k“'e 6_\\“&\‘ 3 "%
s e (geicsp ¥ Pes
AT 43 Lovves p- 'é)/ﬂlw\. \ \ \ 23l alkLind. G Thea
< e = Trens . ) Tely Trentidve
5. Given: Il n ¢ 6. Given:l || n
Prove:m/38 4+ m/Z6 = 180° Prove:m/2 + m/7 = 180°
,QU N e k . ,QI Iﬁt favea
4_3 (€ ort SSTY ol v §j NG b 4[D§ér;:’ su.‘)pL{ o eP N
€306 ae sypbs ST N3 welam 1§D Db SRE
-« N3 »> (_a g&{ﬂ C(N‘(S? 2‘3 })r‘\?,-.’
W34 mcle =50 Defn. Sepplem e e mels Tefn. =
\ nead <1280 Substihedien
A2 ‘
. 7. Given: m/1=101° ms5=101° 8. Given:m«3 = 105°, mZ6 = 75°
E Prove:l | | n ﬁ \ Prove:l | | n MER TS, o T TS e
| el e %01;; WG o (;\\Tr\\ \ 8N\ 7 R S~ med el (0501 ey /rfmz,.
!‘ (AN s f)” \U\ )S i, 5 6 Ll -\ . Ce i ‘_“_’.A)ii-\’ |
L g Defw. & A3 Use for #7-#10 | se3ame s '“’(p :[aﬁir\ J
% > b0 e S cdan
,g“m Con.of Cone = Z}WN, p o IN2 | 45l il SR
- —T s = ‘ /e ”G’\. ol (z\‘:!f::"
z_g:;c& (,\,«m - Ceadd
. : vf,‘
9. Given: Z8=.2 ”,“ Cond ot 10. Given:/£7is supplementaly to £2 ' "
Prove:l | | n plb, fxl T dnam Prove:l | | n %) <1 is sipb ¢ QG
7y ¢p s toéls 2) .00
,\ mald mea =180 = Do, of
L . / T \\’\‘-"f! \n'lcu -»|53U “d)\)
11. Given: m/BCD+ m<BEF=180°, 4B || DC 12. Gwen BC || BF, /BEF = /DCG> ‘o
Prove: BC | I EF /Prove: 4B 1| DC ¢ mmé’?*ﬁ\’]B a &
n YA ERTIS
f AEBOT & w {fj’(( b et \) C\.é{\ _ ,
) " AR "D(‘I\ ’ \)EC\\(;F ' ((Q /)'q)s )(\V ;‘:‘ n\!.'.lﬁ ‘,mél
, o ‘ B Y LAMCE L BEF ) (o N ¢
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Name ﬁ&gWM Period Date

Geometry 22: Even MORE Practice Chapter 3

1. Match each term with its mathematical meaning,

Si A. transversal 1. two angles whose measures have a sum of 180° E,

-;SLB. complementary angles
‘ﬁi C. skew lines

I1. Two coplanar lines that never intersect j)

ITl. Two non-coplanar lines that never interseet (*
AL D. parallel lines IV. A line that intersects two or more coplanar lines at two distinct points /—}
1 E. supplementary angle: V. two angles whose measures have a sum of 90° B

2, Identify the following in the diagram at thdﬁ’,};ight' S:\z

a. two lines that are paralle! to plane FGI LM F G
— > H =
b. two lines that are parallel to HL fﬁ E;E ; !
—_— > v i
¢. two lines that are skew to FG t\ L TUW“ ;
i)
d. a pair of parallel planes F\ L HFG- od plffNL LMK. R K
¢. the intersection of plane LMK and plane IGK ﬁ' E_ L M
3. In the problems below, find the value of x.
— . ) — 3
N mZl=(3x—-17) By 1T =R 3
. ¢}
m/_/Z—(,wl) Ax = fc? 1
X msl=(95+7x)° 1
' mL2=(55-x)° G4+ Ty + 55 % =80 2
150 4 (gx =180

(, X Tf A0
4. Use the given informatin to determitie which lines, if any, are parallel, Justify each conclusion with
a theorem or postulate.

a. £ 6 is supplementary to < 10 b.£3=28 )
,(%/}fm Lo of SST ¥ NoAL. OWM) < 175 _gfu
g “+hm

¢. 25 is supplementary to £ 1 d22=27 :
Nore_ (Unpe) aflb; conv.of
@bﬁ ’v\‘}r ‘}; \//hm
e. £4=,11 f29=21]

o L, o, of cowesp. § thor




5. In the diagram below, find the missing angle measures,

~ 440 /\%l //\ﬁ/ msl = /03-'9
6‘30 12 9 /a M2 = 189
7go ms3= 10
msd=_"18"
ms5=_Db§"
N ms6=_13d3°
107
2
23

meT = Cié ’
ms8=_[2).°
ms9=_78°

mo10 = 563“’
msll= & L[ “
ms12 = 6& '

6. Given that /| m, find the value(s) of x and each angle. Be sure to check for extraneous

solutions, /(( A
N

1/2 5/6

e
/ /

L

me3 :(x2 +112)°
m/8 =(!6.\‘.+13I)

A lox + 131 = /180
X ) - Y3 1R
X2l +H,3 =0




37
99 1

me] = 09¢37

5569
b. 3 H8e

5+ me3 =98

(N<3 < 43

Find the missing angle measure in the images below. Note: Drawings are NOT to scale,
g ALOA

8. Ina triangle, £1 is an exterior angle and £2 and £3 are its remote interior angles. Find the measures of /2
and £3, given that mZ1 = 150, m£2=2x + 3, and m23 = 5x + 7. Sketch the image if necessary.

9. Find mA1,

a.
59°
1
60°
197= 15D
m(“'!! - zioz ’U_fl

@4; ‘—“colj

e

10. Find the value of each variable,

b,

. 1Sx+5

10/

22y + 4
130 = ISy St vy

3T x+ 4

P
<>
)

Ty A ?)J

_————

!

160 = 2xt3 5% 7]
jSO = TIxt10

= 20
/o i X

N 1410

» . o
68°
ofix=14
-Uy
130 = 3y -lp F¥ xey k=713
(30 % lix-2
(2 = lix

(x=12])

?)lg P 1Y) =g




—
L")

AN

4 mLl+ms2+ms3=180°

5. mZl+mA2490° =180°

N U ;
Sushirheh eA

6. el L =90

Subtraction Property of Equality

1.
2.
3.
4. Trvenghy. St Thna
5.
6.
7.

7. <L end <) et Levughonn,

Defn. conplim. .,

. Complete the following fill-in proofs. W\
a. Given: m|ln g
Prove: mZl+mZs7=180° ) 7\8
STATEMENTS REASONS
I. min L 04\1/"&(;
2, Z1 and £5 are Corresponding Angles 20 didn. of  covvesp, B
3. Ll=45 3. Lowesp. J -t
4. mL=ms/5 4 Dofn.2
5. Z5and /7are a linear pair 5. Dodn. LinPr.
6. L5 il ¢ et supplm 6. Linear Pair Postulate
7. mAL5+mZT7 =180° ” 1. e svpplea .
8 el imeT= D 8. suogh dud i
E
b, Given: EHEﬁ ; L3z /1 i F 3 B
Prove: Ak [E@Tf
¢ !2 G D
H
_ STATEMENTS REASONS
1 AB “ o 1. Given
2. Z4and £2 are alternate interior angles 2. Defn. alf~ ity
3. Ld=/2 3. alf, ML Zy Hap
4. el = D 4, Definition of congruence
5. £3= /1 5. oavene
6. m£3=mAl 6. Tefn. =
7 mLEFG =mZ3+ms4 7. OW))LL addt pn&'ﬂ
mLHGF =mA+m22 ¢
8 mAEFG =msl+ms2 8. Subshduth—
9. msEFG = m/HGF 9. LD by Jsh V-
10, o9 “uGF 10. Definition of congruence
11. ZEFG and ZHGF are alternate interior angles 11, Defn. ald, ind. Y 1
12. Ee |l g 12. pooverte of  add dot B
A
I
! ‘
¢, Given; 4B LCD _ %3 \2 N
Prove: /1 and 2 are complementary angles D EEB_ e
~ STATEMENTS REASONS
1. AR LD Given_
2. Z3isaright angle Tedn. L
3. e =90 Definition of right angle
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Geometry 21 PARALLEL PROOFS — beginning practice Name }/}}’NSWJVK% per date

_ Compilete the following proofs:
Ve

(,
#/ -

la) Given: £llm

v

Prove: <1 issupplementary to <5

¥
V\\J
oo
v

1) ,Z//’WL 1) (it
ANPIRPRY D VAT

33 Yo ¢ 5 svpp! - 5‘)5‘815 ¥ s
D) wmed fmes = (£ %(};f. Spp

3“3 mel —mey
([;) mef tme =D

N of 1 &S Spp

e;} D, £
“1) Ded. Sepp .

Now prove the SAME proof a DIFFERENT way!

1b} Given: Llim

Prove: <1 issupplementary to <5

%) el =m el

q\) ey Supp

9 Ml <SR
@ me| Fmes = (180
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2)Given: Lllm ; m<2=70°

Prove: m<8=110°

1) /(HM

) ea Les
’5\ me j o= meS

‘fh me)=70

3*3 me§ 270

6) <57 c§ sqp
‘7) meg tm<€= [ KD
g) 70 Ywm<f = 18D
"b me g =[O

Prove: x=30
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3)Givern: £lm;m<8=3x+12; m<3=2x+18°
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MNGiven; < 1is supplementary to <7
;
~rove: Ellm

S

DR
Y <l Supp- ¢ 77
3 412 2

k‘\ A / { W

2)Given: m< 3 =80°; m<8=100°

Prove: €Hm
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6)Given: {llm; m<i2=m<8§

Prove: allf
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7)Given: €1l m; <9 is supplementary to <7

Prove: all &
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8)Given: allfi; <9 =<8

_Prove: Lllm
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9)Given: £llm; <11 =<4
Prove: <6 is supplementary to <7 (HINT: first prove a 11 #) ‘ifS o1t 2
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Parallel Lines Proof Worksheet Name
Write a 2 column or flow proof on your own paper.

ol Given: 1 || omy £2= 24 2. GivendlimZLl=r-4
v o Prove: /4 = /3 ‘ Prove: /3 = /4
4
3. Given: jl|l kEILIL 4, Giveny || &k |11
Prove: £1 = /8 j k ! Prove:Z1= /6
1 2 b\3 R
< 4\ s\ 6\ >
5 Given: Illn - . 6. Given:ill|ln 7
Prove:m /3 + mZ6 = 180° Prove:m/Z2 + m/Z7 = 180°
1 8\7 -
! N 6 L
473
n <4 P
H i IK
N\
A
7. Given: m<s1=101° m/56=101° 8, Givenims3 = 105° ms6 = 75°
Prove:!l | | n Prove:l | I n
' I X? - '
< N6 Lo
a\ 3 Use for #7 —#10
J

< [
n < P

9. Given: £8=/2 10. Given:Z7 is supplementary to Z2
Prove:l || n ' Prove:l | | n
11. Given; m/BCD+ m/BEF=180°, 4B || DC 12. Given:BC || EF, ZBEF = Z/DCG

Prove: BC | | EF Prove: AB || DC _




